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General Instructions :

A= fdvr

1) All questions in  both Groups  are
compulsory.

3 @US % i v s §
1)  Question Nos. | to S and 17 to 21 are Very

Short Answer Type questions carrying
1 mark each.

WIFe 18 58K 179 2] T g I e
&, Tl v w1 1 o 3

i) Question Nos. 6 to 10 and 22 to 26 are
Short Answer | Type questions carrying

3 marks each. Answers to these should not
€xceed 60 words each.

¥ Ho 6 9 10%22#26@-%@1%%,
%ﬁm%aaﬁ%%lﬁﬁ@mwm
60@@&%#@7%%1
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iv)
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Questions Nos. 11 to 13 and 27 to 29 are

Short Answer Il type questions carrymng
4 marks each. Answers to these should not

exceed 70 words each.

g¥E To 11 ¥ 13 %R 27 ¥ 29 &5-3ITE 11 W94

§ o ud® % 4 ¥ £ 0 & TE @ W

70 YI=T 9 3y 7€ £ T

Question Nos. 14 to 16 and 30 to 32 are

Long Answer type questions carrying
6 marks each. Answers to these should not

exceed 100 words each.

usT Ho 14 § 16 AYT 30 ¥ 32 U-IWG WA €,
B gE ¥ 6 o &) TH 9 UdE Hl I
100 v=aT @ 31fues =& & T1ed |
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vi)

vii)

Viii)

53]

Attempt all parts of questions at one place

T & WH WU H IW UF A SH W en
ey |
No word limit is

there for numerical

questions.
ARATHE Jel R ¥ |97 1] 78T @

Use of calculators is not permitted, however

you may ask for logarithmic and statistical

tables, if required.

?ﬂmwm?iaa?r:{mﬁﬁaﬁﬁ%,qﬁmﬁﬁ}

Y TPTE AR WERE WO w m we
THhd ¢ |
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Group - A 4. What is the value of index in base year ?
gug - A
&) 1 (b) O
Verv Short Answer Type Questions )
( Very (c) 100 (d) None of these.
( arfq g I W ) ST o ‘
o H eI H P o Er ¥ )
Answer the following questions : 1x5=5 (1) 1 o o
foet Tl o S :
® 100 (@ TG
1. What is Statistical Project ? .
. Th . _
SifeTa S FE 2 e f;mula of coefficient of v‘anance is
(@) x100 b X
2. What do you mean by frequency ? p
. E,
g | 3G 1 FIHA T 2 (c) = ) None of these.
3. Arrange the following series in descending fereror Ol HT G &
order : . | . (30) %x 100 - E
ey Siofiern ot TR W ford -
@® = . |
X T F 3¢ 7

4,12, 16, 3, 14, 5, 28, 30.
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( Short Answer Type I Questions )
()
(&g IAUT 1 99 )
Answer the following questions I3x>=15
= U9El & 307 ¢
6. Describe 1in brief three main characteristics
of statistics.
. [} ) "~ ‘ . _m - -
HITTRT sl i+ ';1_5"5 IS A ] Joedld SR d
7. Write the names of two sources of
Secondary Data.
fgdiaes 3iimel @ <1 |idl o =19 I3 |
8.

What is meant by classification of data ?

HTFSl & FITehoT | F 37 & 2
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9.  What is histogram ?

Agia e feg = ¢

10. Write three merits of median.

HitersRT & A T @t fad |
( Short Answer Type II Questions )
( g I/ 11 9T )
Answer the following questions : 4 x3=12
=t et & s 3

11. What is the difference between classification
and tabulation ?

AT U AR F aiay FA3T |
12. Explain in brief the meaning of different

diagrams.
Tt ST 3 ot s F wwae
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13. Why is arithmetic mean mostly prevalent

measure of Central tendency ?

QHITR wed S5 wata el aa st wafera g
g ?
( Long Answer Type Questions )

( " ITET a9 )

Answer the following questions : 6Ex3=18
e gt & I T
14. Calculate the quartile deviation in the

following discrete series :

frfefaa sraaa goft @ aqds fogem ferfen :
Marks
) 10| 15| 20| 25| 30| 35] 40
(3ieF)
No. of
Students

(Rrafii | 2 | 31234 [5]6
&l T
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15. Calculate the mode from the following data -

Fiafafea ezl & werEr W Blzi=c

AT

Size of item
e | 11121314 15] 16
Frequency
s 419 (11[12]16]15

17 118119202122
11191186 | 5] 2

16. In a city 45 families were surveyed for the
number of domestic appliances they use,
Prepare a frequency array based on their
replies as recorded below :

t{ﬁwﬁ%uﬁmﬁaﬂaﬂ%mm%&m
T O] IYFRON 1 wAEOT A ) 39 s @

2223126104231 23a4

3323221216521 3 5

427 2424321233233
OR / Jyar
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Answer the following questions :
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Define Dispersion. What are the objectives
of dispersion ?
TFETOT HI URWNE Hiew| U0 & =&

T E ?

Group - B
g -

( Very Short Answer Type Questions )
( ifa &g IR wv )

Ry & 3w e

17.

18.

19,

What is employment ?

TR 1 € 2

Mention two major reasons of energy crisis
in India.

YRA H Heil Gehe & &l FE FHRO Fa3U |

What are the different means of Transport ?
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20. How much population of the country gets

21.

livelihood from agriculture ?

(a) Half (b) One-third

(c) Two-third (d) Three-fourth.

mﬁw%ﬁﬁmﬁgﬂ%mﬁmﬁﬁm
WIS &l & 2

(37) 3 (%) e fqer
() =t e () 9 =g

When was Mahatma Gandhij National Rural

Employment Guarantee Scheme (MNREGA)
launched in whole of India ?

(8) February 2, 2006 (b) April 1. 2006
(c) April 1, 2008 (d) May 1, 2008,
(nm)aniuimﬁﬁm@maﬁné ?

(37) 2 ®&R/, 2006 (=) 1 309, 2006
(®) 1 3%, 2008 () 1%, 2008.
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( Short Answer Type I Questions )
( &Y IR 1 79T )
Answer the following questions : 3x5=15

XSC-ECO-(Opt.)-SC

T e & 3T

22.

23.

24,

25.

26.

What 1is NITI
constituted ?

ifq e FaT € 2 98 & I 7

Explain the objectives of liberalisation.
IFRIH0T o I2¥d T3y |

What is the state of Agriculture sector in
China ?

A 5% i T E 2

State the benefits of family planning.
uRar fats & ol i FaRg |

Mention three advantages of education.

forar & = @t St FaiEg |
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( Short Answer Type Il Questions )
( &g AT 11 997 )
Answer the {ollowing questions : 4 x3=12

=R % 357 8

27.

28.

29.

What were the needs of adopting economic
reforms in 1991 in Indian economy ?

1991 ® WRAE s d shw quRT @
ST T ST §F 2

Explain the features of industrial sector in
Pakistan’s economy.

- | r(_ = > P n o~ &
RUEES I 2 et - i 5 T Py TS9TSETa
AL |

Discuss the various kinds of pollution.
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( Long Answer Type Questions )
( e I Wy )
Answer the following questions : 6x3=18
=1 el & IS
30.

31.

32.

What challenges does India face regarding
health care facilities ?

yRd ¥ w@red gousi & wEy " H®
Discuss the importance of agriculture in

Indian economy.

g eeeme § FfN % e W e
Hifa |

What is the meaning of human capital
formation ? Explain the sources of human

capital formation.
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A i T &5 et 2 2 o o
& BT T3 |

OR / 3rgar

Explain the merits and demerits of organic
farming,

Sifaes Bt & 1o vF 3 e
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